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eSleTenTLILIG TS Eh&smer ClLTg @HlLiLser:

General Instructions to the Candidates :

i)

ii)

edenréser UL ULgliy srsdaib, elflaurs el wals@h aumasulgib 2 arerg).
This Question Paper is descriptive type in Degree Standard.

demggrammeng s wHNL Whde augaunsais 2 drearg. gCoaib sHGssb @i, ymde
augedléd sruu@erer GHlLiLsCar (pigeuTeng).

The Question paper is printed in Tamil and English versions. In all matters and in cases of
doubt English Version is final.

@sCsiees QUISSaIT, PSS eT(YsIuSHCET LHNIL KWapuideTosd sr@@u;smasrras@surr saflurs
wHUQUATEET FISEILIL eSldene.

There is no reservation of marks for neatness of execution and correctness of spelling in
respect of this paper.
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9fley — =
SECTION — A
(055 APl sierelle el waflsEd el euens)

(Very Short Answer Type)

@Ol : ) galaradpsd 30 AsrhsEsdEe Wamod daLwelléseaw.

Note : Answer not exceeding 30 words each.

i)  gaQaurm alamealp@d aperg wHUQUSTEET.
Each question carries three marks.
it) Qsr@&suulBerar gpriLS@sHs elamsseiie amauCugib wuug damssEnss
L [Hib el wafl&aseb.
Answer any thirty questions only out of thirty five questions.
(30 x 3=90)

1. 17 XVID) @uiEuBssib s LsHen (psduggieud wng?
What was the significance of the Regulation XVII?

2. /&,&;grrcb élmr‘réeﬂ unidl GHUY S(HS.

Give an account of Santhal risings.

3/ 18331 pan(® L Lw s e wpédlw smpsmer deuaisbarans

Bring out the important provisions of Charter Act of 1833.
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4./’ &58 QuéssSlen P& sammseT WTemeu?

What are the important features of Suddhi movement?

% GO SST_STSET GTETLIGUTSET WmT?
Who were Khudai Khidmatgars?

7 <o Gament ukert uHH GHIUIY S[Hs.

Give an account of Amar Sonar Bangla.

7. smpHwumed aualluymssiul L § &Lﬁ]@ﬁ) < enanenw edleur.

Discuss ‘the fiery ordeal’ emphasised by Gandhiji.

8.  WgnenC&m LomiTig 6 GTemIeuiT Wimi?

Who was Franco’s Martin?

9,/ @pHwur e swow eTTUDD BTH TaTn T JDPESLLGEDSI?

Why is India called a secular state?

10. / ‘ssHwndlysn’ — euenquim.

Define ‘Satyagraha’.
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13.

14

o«

s Sand Gy HL el &oa Hrer” GTemMELp&ELILILL §|? Gran?

Which day was called as the day of “Direct Action” and why?

1933 b yainig & QeucTenars smeT SiMéama Ghss Helli Sifloug wng?
What do you understand by White Paper of 1933?

@M el L eugeu Bése) @Gemd, 4 Sy SER@LWL STl seurTd GRULL HeTeng. paser Gasenss
sl o_érer seuflan Lpliumeng), Gerddlern LFlden % Qu(pése erafle), GeTHSlem LTLD STesTs.

A circular swimming pool is surrounded by a concrete wall of 4 ft wide. If the area of the

circular wall surrounding the pool is ;—; that of the pool, find the radius of the pool?

. 200 wiiyetar @m Qur@mer 10% pegLgde aflpaiiuLg). Gm@lm 5% eflene @GemD&ELILIL LT,
SLQunmer (afpsiiucL) (=) elpp eSlenew eraimen?

An item costing Rs. 200 is being sold at 10% loss. If the price is further reduced by 5%. What
will be the selling price?

@ Qecucussdlen @pmeuaﬁ]LLLb 17 Qa.8. @igen sppetey 46 Gs.15. arafléd igen LTS EIC N

The diagonal of a rectangle is 17 cm long and its perimeter is 46 cm, find the area of the
rectangle.
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16.

17.

19.

om Gaeas ugdHudar siae 15% afsledpg. e 8% Gopdng erafled, siger Y —i—g— erafle,
o ameniowiner 19enar LLIDUE ST,
If the numerator of a fraction be increased by 15% and its denominator be diminished by 8%,

the value of the fraction is %2— . Find the original fraction.

yarefl eflurs e eflamsals L SHlen cumssar gCESEID PETDDE SaDis.

Mention any three diagrammatic representation of statistical data.

< Lamaiu(sgiselan QeucuCaum LGSlseT wremel?

What are the various parts of tabulation?

www.tnpsctricks.com
fHlaspsaeilen elfsmer sans.

/ State the axioms of probability.

20.

22,

(% SU aumLSHD, 53 @muipp SpeosdT aumausHaTer HlEpsse, ererea?

What is the probability that a leap year selected at random contains 53 Sundays?

Sey 2SFEulen Liwie ereven?

What is the use of data dictionary?

o wirflee Qumfseiidr amssmen u_gudL( gataraPhELh 2 STTTDd 5[Hs.

List the types of high level languages and give an example for each.
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UNIT III

4 yefluSitiy w@és wHiGmer LTHEEWL sTraflamar GO0 s.

Name the factors which affect the value of acceleration due to gra'wity.'

24. pedWE eranLg WTE? igamar cllaTsEs.

/ What is Xerography? Explain it.

25/ &(HHGIEOETSHET GTEIDITE) GTEGT?

What are black holes?

26, grgssmar 2LT9&ED BHNsD LHDID USSP QDS CapuBss!s.

Differentiate calcination and roasting of the concentrated ore.

27,/ H,PO,, H,PO, wppid HPO; du umeuLedien .%&réﬂ sflonsmar saupdler 0®s
senewuler @pig aflamsiio afl@siuBsss. :
Arrange the following oxy acids of phosphorous in decreasing order of acidity H;PO,, H;PO,
and H;PO;.
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28/(@:@@@)@3 war_esHd 2 drar 2 puswirerisemars upd m GHILY euers.

Write short notes on producers in an ecosystem.

29. YCrr  GLmlermesems “e udfler @uDAwE SigliueL” eream e SAMPESILIHEDS?

Protoplasm is the physical basis of life — Why?

30. “igg” QemmavLilig e LIGTLEENET GT(LHF.

Write the features of “Ti” plasmid.

31. PUFA arenpmed eremen? @uewt(h) 2 STranthiser oiafl5g) igen e sTs8Lnsmeans sans.

/ What is PUFA? Give two examples and state the potential benefits of PUFA.

32. e2.awey sadlellullen 2 amrayl L Hlanaisefien eramrenflEans erer euemupEsLILIL (HeTeTg?

The number of trophic levels in a food chain is limited. Why?

33. GYLILWESD aaTpTe eTaan? GlgLiLpsasden gGsaib ey uamLsameT Uiy Wl (s,

What is alcoholism? List any three characteristics of alcoholism.

34. HTTP erenprey eremen?

What is HTTP?

35. ‘wpbleae Qgmfl’ erammme ereen?

What is meant by ‘Ecological Succession’?

GS-1/16 8
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SECTION — B

(sméawns eleLwell&@h eflamm auams)

(Brief Answer Type)

@Oy : 1) gaGeunmeelameilneEn 120 QerpsErés@ Warnead eflaLwelssayb.

Note : Answer not exceeding 120 words.

eeuCeur eflamelln@b er_® wHIQuaTSET.

| P— . Y
E
S~

Each question carries eight marks.

iil) Qaer@Essiu’Gerar uHQer @ elamasaile emauCugibd ufmanng ellaésEnsE

L (Hb ellenweall&seyLb.

Answer any fifteen questions only out of eighteen questions.

(15 x 8 = 120)

yeﬁrfﬂaau Wfleneuls Lpd OFTEGSSI eT(HEI5.

Give an account of the “Partition of Bengal”.

www.thpsctricks.com

37. @pdwreyLear aweafls eney gHuBss Phdas Spsfpdu sblueafll Coplsrar by &re
/ [BL_6U g SESEET WITEne ?

What were the initial Stgps taken by the English East India Company to establish trade
contacts with India?

38. erav.ig.arav. (S-T-S) wss BT UPH erpgIs.
Write about S-T-S War Strategy.

?V@;seﬂm ugdNsmaeaurdwrs urgdumt odlu undamer sans.

Write a brief note on the contribution of Bharathiar as a Patriotic Journalist.
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/0./ W ‘SBDHETL g6 (HGET erempeanp&SLILILLTT? 6en?
Who was called as “Rousseau of Tamil Nadu”? Why?

}\./ Qeenenes amgen gemuiuflen (p&Slwusgieuid wng?
What was the significance of Madras Mahajana Sabha?

427 em eultld @m mumi, @@ @urru'J.. ®HS UMD preukiser aarenfiées 5 : 7 @ 12 erenp
aflgsfler o araran. pramumsefler Qurgs wiy . 395 aeafle, geuCeurm eums premumsafie
cTRTenflHENS CTELEUGTEY GTENE: &IT6HT .

A bag contains one-rupee, two-rupee, and five-rupee coins in the ratio 5 : 7 : 12 amounting to
Rs. 395. Find the number of coins of each type.

43. /@m persHan waser Qgreans 176400. aBLSHDEG 5% Sifswrame 2 aumLiisald wasar Asras
ereucuaTey? @reart(h uHLSHDE PETINS eTeueueTe,?

The population of a town is 176400. If it increases annually at 5%. What will be its population
2 years hence? What was it 2 years ago?

447 ugeud QFeueus UL LD ieEHM ellaTEEs.

Explain the construction of histogram.

45/ @Quam(® S (aar 52 S (a6 odTeT UL 80 slnd ObHE FwUMULLETET PODWTS
2 meuliulPareng eraflen &Gl 2 areraupenp QupieugpaTen Flapssey samad®. (1) @M LW
(diamond) wHmitb apmi (heart) (<) @@ TrRT @ rrexdl () @rewr( @gngnué?

Two cards are drawn from a pack of 52 cards at random. What is the probability that it will be
a (a) diamond and a heart (b) king and a queen (c) two kings?

46. MICR, OCR wpmib OMR gflég e(wgis.
Write about MICR, OCR and OMR.

GS-1/16 . 10




47. uuflore Ligwigea updl efleTs@s.

Explain Holograms.

48. @EPHUY e :

(=) Qoo Querdé

(=) Sgmien
(@) meRTLIGS SrTUe
n
(/) yeogrifenaar. \
A% <
Write a noteon : . i q“\ 7
\
(a) Lead pencil 6,/): i (béy
(b) Graphene \ ('ax ;o
9
(¢) Microcrystalline carbon 3 A9 0
: 22

(d) Fullerene. A\

49. eflerdsiorer GOILILSET TSI :
(21) wrysTThs udeams 2 uifser

(2) @emnbarihs Ldeuams 2 ulfser.

Write descriptive notes on :
(a) Genetic diversity
(b) Species diversity.

/50. elomE Qeoweiean Qews L s semwlibmer efleTéEs.

Explain the cytoskeletal organization of an animal cell.

P&
51. / @pdwreligerar CurengliLés @Ity apenpaefien srgenanaamer Ceuafls Garanis.

Highlight the achievements of drug deaddiction programmes in India.
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52. “Qu&s @@réj@;’ eflerr Qeweur(Hamer eflarasons efleuflssai.
Explain the functions -of. an operating system.
www.thpsctricks.com
53. CGurune eflageumy ghuBsHu Swy eSlenereyser wireneu?

/Véat were the tragic effects of the Bhopal Gas Tragedy?

Gfley — &
SECTION — C

(eQfleurs elenLwefl&Eh eflem euans)

(Detailed Answer Type)

@Ol : ) gaQanrmalamadpEn 250 AsrpaEréeE Warwe edawellésayb.
Note : : Answer not exceeding 250 words.
i) ga@eunm elamalpEb ufleabg LHLIQUBTEET.
Each question carries fifteen marks.
i) Qar@ésiul@Perer gerug efemssafldr aomaCuaid Hm eaTEsEEEE
Gophsulsd @@ ddemoa gaQaurm uedldops Csp0s05s
eflen_wefl&seayb. '

Answer any six questions out of nine questions attending atleast

One question from each Unit.

54/ pelien @ba wpwerEd updl elfleurs eflerésayLb.

(6 x 15 =90)

Explain in detail the modern Hindu Renaissance.

GS-1/16 12
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5? wrleonisear wnfanliy Geeaeuls updl GHILY eT(9sIs.

Write a note on the states Reorganisation commission.

56. 9.y SCuSETHen eumpsama HYID sTsmenser’ LDl @b efleTéswTear HS_H®T (PSS

Write a detailed essay about the “life and achievements of B.R. Ambedkar”.

5/8 ansEpd 6 Apeuisesd 2 prisefld @m dferm Qe @pyuw wHPL 6 YETEHEHD
2 fpars@sd 3 priseafld swg Qelwerd aafld 5 pamseEpd 3 fpaiserd Corpbg <ibs

Couamaeniu (piq.6& THSman BrLsem Cgeneulil(BHd?

If 8 men and 6 boys can dig a well in 2 days and 6 men and 2 boys can do it in 3 days how long
will 5 men and 3 boys take to do it?

58. 30 wramaiseflér A OUass 8Cp Ganpasiiu Gaerar. 41, 56, 48, 47, b8, 48, 33/(33, 42, 55,
14, 38) 60, 65, 71, 80, 41, 53, 47, 48, 55, 20,61 64, 42, 51,8533, 26, 25
t] L’j ] ’ y --, i ’ ? ’ ’ ‘, “, bl 3 ’ .”" ] --’ .

(=) gm epua s 20 , 25 , 2

: 3‘1’32,33, 3\1,3(,35,%.
4y Ll 42,40, &9,
.97, 48,47 ,"f“‘

(=) Bapeuar i igwel®

(@) 10 ey @enGeuaneruiler AETLTLINE QUEHLLTD CT(PSI. 4

Marks scored by 30 students are given below 41, 55, 48, 47, 53, 48, 33, 32, 42, 55, 44, 38, 60,
65, 71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42, 51, 35, 35, 26, 25 P 56 /5

(a) Arrange the marks in Ascending order ) Lo« P
(b) Arrange the marks as frequency table
(¢) Convert the marks into a continuous series of a class-interval of 10.
13 GS-1/16
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59. oflefwd Asmfe mLu gmpulie Qeaunms gaarGardasafear ukisafiiy updluyb eupder Hlap
Gonsaar upBHluyb eflfleuns eTpgis.

Explain the role of artificial satellites in the field of science and technology. Discuss their
merits and demerits.

60. (=) Spssramuarcupen CaupuBdsE, 2 sTrad §(Hs.

) Gaiugsre @er@w wHmid Aeuliugsred @mE@LD GarTevig &@aeT
(i) GCsréens LHYID GHIES LOUIQGESET
(i) Qupensufemer mgbgjl.b auasamend Qe L FuUu.

() FEUOUIGSET GTENDITE) GTEINEN? BEM6U eTeUaMD uensLLIBHSSILIHD?

(a) Differentiate the following with suitable example.
(i) Thermoplastic and thermosetting plastic
(ii) Addition and condensation polymer

(1ii) " Vulcanised and raw rubber.

(b) What are co-polymers? How they are classified?

6l. usnsafstsaie 2 6 s@wlmuLb g Qewdursmaenyb efeufl.

Explain the ultra structure of chloroplast and its functions.

62. pe Qewser aranpred erenen? W(MHbgIe HflFmaudier ape Aeasafiar urifleoean ellaTé@s.

What are stem cells? Explain the role of stem cells in medical treatment.
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